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AAS5 Team Test

1) ({OHVCH the following into radians or degrees. Reduce all fractions
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2) Find the exact value for following measurements
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3) Examine the angles below.
a. Convert them to an angle between 0 and 27T

b. Find their reference angle
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4) A unil circle has angle 0 in standard position. Point P is on the circlé

and the coordinates of P are shown.

a. Draw in the reference angle for 6 and label it W. (LO

b. What is cos8? ‘/7_

c. What is sin? \r%/L - ,
‘L.;‘.

. t
d. What is the measure of angle 82 Give your answer in radians and degrees.
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f
fferences between the graph of sine and cosine? Sketch an example of each below and

5) What are the di
rasting the two functions.

write 3 sentences comparing and cont
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below.

e, and period of the functions given
b. y=3+ 8cos(30)

6) Find the midline, amplitud
a. y = 4sin(2x) — 9

azH4, ™= -9 a8

M= 3

- 20 -¢ B O
P 7 PJ/%Q:(ZO




ualior
l d k.‘f(}{ 1(|3g,

j ‘{s A2x) - L,

8 i ,
2y Graphy=2+ 3cos(~). Besuretofillin the units on the

Fe. [FRRRAN

RITE TR 1

b Leuation: \j 3(OS<§,XB +l

x- and y-axes. The units are in radians.
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9) Suppos i
) PP . e the average high temperature, each month, in Central Park (New York) 1s inodaled by 1|
equation t(m) = -24cos(30m) + 6, starting in January. o
a. Find the teﬂperature in February {Hint: what should m = ?)

24 os (30-1) + = -14.8°

b. What month will the temperature be the highest? What will that temperature he?

c. Sketch a graph of one complete cycle. 3 @0 - l ?
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10. As you ride the Ferris wheel, your distance from the ground varies sinusoidally with time. You are

ately. Let t be the number of seconds that have elapsed since the

+. & filled and the ferris wheel starts immedi
43 ft. above the ground, and that the wheel make:

ae| started. You find that it takes you 3s to reach the top,
once every 8s. The diameter of the wheel is 40 ft.

a. Sketch a graph.
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